



Subtraktion von Brüchen (gemischter Bruch)

Name: _____

Datum: _____ Ergebnis: _____

$$1\frac{1}{6} - \frac{4}{5} =$$

$$\frac{6}{7} - \frac{1}{6} =$$

$$1\frac{1}{4} - \frac{1}{2} =$$

$$1\frac{1}{4} - \frac{6}{7} =$$

$$1\frac{2}{3} - 1\frac{2}{5} =$$

$$\frac{7}{9} - \frac{3}{5} =$$

$$2\frac{1}{3} - \frac{6}{9} =$$

$$1\frac{1}{6} - \frac{1}{6} =$$

$$1\frac{1}{4} - \frac{3}{9} =$$

$$2\frac{1}{3} - \frac{3}{6} =$$



Name: _____

Datum: _____ Ergebnis: _____

$$1\frac{1}{6} - \frac{4}{5} = \frac{11}{30}$$

$$\frac{6}{7} - \frac{1}{6} = \frac{29}{42}$$

$$1\frac{1}{4} - \frac{1}{2} = \frac{3}{4}$$

$$1\frac{1}{4} - \frac{6}{7} = \frac{11}{28}$$

$$1\frac{2}{3} - 1\frac{2}{5} = \frac{4}{15}$$

$$\frac{7}{9} - \frac{3}{5} = \frac{8}{45}$$

$$2\frac{1}{3} - \frac{6}{9} = \frac{5}{3} = 1\frac{2}{3}$$

$$1\frac{1}{6} - \frac{1}{6} = 1$$

$$1\frac{1}{4} - \frac{3}{9} = \frac{11}{12}$$

$$2\frac{1}{3} - \frac{3}{6} = \frac{11}{6} = 1\frac{5}{6}$$